Answers and mark schemes

Year 2 Living things and their habitats

Test 3 (end of topic) Area Mark Extra information
1a. In a pond A/WS
1b. Caterpillars A/WS
1c. There is plenty for them to eat. KU Accept any reasonable
answer relating to a flower
bed being a suitable
habitat
1d. Any one from: they cannot live in water or they would KU Accept any reasonable
drown as they need air; butterflies cannot lay their answer that relates to
eggs in water; they would not find the leaves they moving, eating or
eat; they cannot swim. reproducing
Accept that a pond is not
the right habitat
2a. slug, woodlouse KU 1 mark for each correct
answer
2b. Any one from: it is warm; it is damp; it is dark; it A Accept any reasonable
provides protection; they can find food there answer
2¢. [nmal Tally Number A/WS Tally marks for slug and
beetle both correct for
werm M ° 1 mark
snail M 9 Numbers for snail and
slug 11 4 spider both correct for
spider ||| 3 1 mark
beetle WM M| 11
3. Any animal that only eats meat KU Do not accept the name of

an animal which is an
omnivore (eats meat and
plants), e.g. human
Accept cat
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